- APPENDIX A2 Polynomials and Factoring . 851

' Bxercises -4, wiite:the polynomial in‘§tandard form and'state ity

‘fegree.

A2 T 4847
4.1=x7

I Exercises 5-8; state-whether the expression is-a:polynomial.

Ry - |
4 2t =t Fx—3

Bt e 22 o

UG 1P 8.1 - Brdoud

'fn Exercises §-18, simplify the expréssion. Wiite your snswer i
Standard form,
?9 (x2~3x+ 7)-+(3x2+ 5~3)

40: (— —32% = ;
11, (@ — x249x) — (&3 + 125 9)

2.+ -+ 5 FH +4)
132¢(3% — x + 3) 18, Y2252 + 3y — &)

16, ~3u(dy - 1) 186, —ifw(2 — 307)

17, (3~ x ~ 3x)(5%) 18, (1 = x2 +at)(2x)

"I Exercises 1940, expand the produgt. Us#wertivil aligniment in
Exe:c;&es 33 and.34.

59 (x.—2)(x + 5)

21 @~ 3le+ 2)

3{/& (3x - Y8+ y)_.

25. (3x+ 4y)?

208 — v

29, (207 — )27 + 3y)

31 G =2+ 3+ D

;?,3. (245 - #x+1)
W, (262~ 3y + D) — %+ 2)
%, fx— \/“)(x-l— Va)

20, Ca+ x4+ 1)
22, (2~ 322+ 3)
4. (3~ 527

%6, (x - 1P

28, (u + 3)?

30, (5 — 1)

32, (2% +%x ~ DE—3)

6. (V%— YU 4 YY)
W VE VNV - VE) 38 [k %/3)
8. (x - 02+ Ix+ 4) 40, (x + Dl -3+ 1)
IFEX.ercises 41-44, factor-ont the-commornfactor,

WSe-1s 4. 5x%— 20x -
Biye® — %922 + Dz a4, Ixlx+3) - 5(x + 3)
hﬂ Exercises #5--48, factor the difference of two squares.

!45 gty 469 = 16

*fi? 64 ~ 257 A8 16— (£ + 20

In Exercises49.5
4857 + 8+ 16
BLAz2 ~ 4z 41 |

Factor the perfect square trinomial.
50, 3632 + 12y + 1
52, 9"~ A +16

In Exercises $3-58, factor the ssmior differiice of two cubss,

63:3% — 8
§7:1 — 4%

In Exercises 59-68;.

B9, 3% +:0x + 14

81, 7% ~ 57.—24

63. 14u? = 33— §
65, 12x% 4 g~ '15
B7.6x% + 11xy — 10y?

B4, 7V 4 64
86, 642 427
58, 27 - y*

factor the (dooinial.
- 80; 32 — iy + 30

62. 62+ 5t + 1

6. 10vE + 23y i 12

88, 22— Byt y?

68, 15?4 20xy = 14y?

In'Bxercises 6974, factor by grouping,

B9, x? — 4x? + 5x —~ 20
74, a8 — xtd 42— 3
73, 2ac+ Gad— bo— 3568

74, Juw 120z - 2y~ 8vz

70, 2% — 322+ 2 — 3
T2oat 2 v ¥R 4 2

In Exercisés 75-90, factor coingletely.

78, x¥ 9 x

77,1850+ 4877 + 32y

79. 16y — y°

81, 5y + 3yt — 250

83. 2(5x -+ 1) -~

85, 12x% + 22% ~ 20

87. 2ac ~2kd + dad — be
89,57 =322 —~dx + 13

78 dy¥ — 20y* + 25y
78. 2x* — 1652+ 14z
BO. 3x% +24x
82,z —8zf -
84, S(25— 3

86: B A 1Sy e IOy

88. 6ar — 2bd + 4be ~ 3ad

. 90,.x% — 4y? --xz+4x

91, Writing to Learn Show tht the grouping

(2ac + be) —

{2ad + Bd)y

leads-to-the-same factorizetion asin Example 11b; Explain-vihy

the third possibility,

(2ac, - bd) +(~2ad +.5¢).



